

Omajusho mabe leshe
16/10/2020

① IF $y = e^{x^2+x}$

IF $(x^2+x) = u$

$\frac{dy}{dx} = 2x+1$

$\frac{dy}{dx} = (2x+1)e^{x^2+x}$

$\frac{d^2y}{dx^2} = (4x^2+4x+1)e^{x^2+x}$

IF

$y'' = y'(2x+1) + 2y$

$(4x^2+4x+1) = (2x+1)e^{x^2+x} + 2(e^{x^2+x})$

$(4x^2+4x+1)e^{x^2+x} = (4x^2+4x+1)e^{x^2+x} + 2e^{x^2+x}$

$= -y'' + y'(2x+1) + 2y$

module 1

$w = -y''$

$w' = -y'''$

$w'' = -y^{(4)}$

$w^n = -y^{n+2}$

module 2

$y'(2x+1)$

$u = y'$

$v = 2x+1$

$u' = y''$

$v' = 2$

$u'' = y'''$

$v'' = 0$

$u^n = y^{n+1}$

Using Leibniz equation

$\frac{d^n}{dx^n} (u^n v^n) = n C_n u^{n-1} v^n + n C_n u^n v^{n-1} + \dots$

$y^{n+1}(2x+1) + n y^n \cdot 2 + 0$

$B = y^{n+1}(2x+1) + 2n y^n$

For module 3

$2y$

let $M = 2y$

$M^n = 2y^n$

$w^n + B^n + m^n \Rightarrow -y^{n+2} + y^{n+1}(2x+1) + 2n y^n + 2y^n$

$$\begin{aligned}
 & -y^{n+2} + y^{n+1}(2x+1) + 2ny^n + 2y^n \\
 & -y^{n+2} + y^{n+1}(2x+1) + 2(n+1)y^n = 0 \\
 & y^{n+2} = y^{n+1}(2x+1) + 2(n+1)y^n \\
 & y^{n+2} = (2x+1)y^{n+1} + 2(n+1)y^n
 \end{aligned}$$

Return

2. Using the Leibnitz theorem given that

$$y = x^3 e^{4x} \quad \text{determine } y^{(5)}$$

$$u = e^{4x} \quad v = x^3$$

$$u' = 4e^{4x} \quad v' = 3x^2$$

$$u'' = 16e^{4x} \quad v'' = 6x$$

$$u''' = 64e^{4x} \quad v''' = 6$$

$$u^{(4)} = 256e^{4x} \quad v^{(4)} = 0$$

$$u^{(5)} = 1024e^{4x} \quad v^{(5)} = 0$$

$$y^{(5)} = \sum_{r=0}^5 \binom{5}{r} u^{(r)} v^{(5-r)} = \binom{5}{0} u^{(0)} v^{(5)} + \binom{5}{1} u^{(1)} v^{(4)} + \binom{5}{2} u^{(2)} v^{(3)} + \binom{5}{3} u^{(3)} v^{(2)} + \binom{5}{4} u^{(4)} v^{(1)} + \binom{5}{5} u^{(5)} v^{(0)}$$

where

$$u^{(r)} v^{(5-r)} + \frac{5!}{2} u^{(2)} v^{(3)} + \frac{5!}{6} u^{(3)} v^{(2)} + \frac{5!}{24} u^{(4)} v^{(1)} + \frac{5!}{5!} u^{(5)} v^{(0)}$$

$$+ \frac{(5-1)(5-2)(5-3)(5-4)}{5!} u^{(5)} v^{(0)}$$

where

$$y^n = n = 5$$

$$u^{(0)} v^{(5)} + 5 u^{(1)} v^{(4)} + \frac{5(5-1)}{2} u^{(2)} v^{(3)} + \frac{5(5-1)(5-2)}{6} u^{(3)} v^{(2)} + \frac{5(5-1)(5-2)(5-3)}{24} u^{(4)} v^{(1)} + \frac{(5-1)(5-2)(5-3)(5-4)}{5!} u^{(5)} v^{(0)}$$

$$\frac{(5-1)(5-2)(5-3)(5-4)}{5!} u^{(5)} v^{(0)}$$

$$[1024e^{4x} \cdot x^3] + [5 \times 256e^{4x} \cdot 3x^2] + \left[\frac{5 \times 4 \cdot 64e^{4x}}{2} \cdot 6x \right] + \frac{5 \times 4 \times 3 \cdot 16e^{4x}}{6} \cdot 6 + 0 + 0$$

$$1024x^3 e^{4x} + 3840x^2 e^{4x} + 3600x e^{4x} + 960e^{4x}$$

(ii) $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$ Show that $x^2 y^{(n+2)} + (2n+1)x y^{(n+1)} + (n^2+1)y^{(n)} = 0$

$$x^2 y'' + x y' + y = 0$$

module 1

$$x^2 y''$$

$$u = y'' \quad v = x^2$$

$$u' = y''' \quad v' = 2x$$

$$u'' = y^{(4)} \quad v'' = 2$$

$$u''' = y^{(5)} \quad v''' = 0$$

$$u^n = y^{(n+2)}$$

$${}^0 C_n u^n v^0 + {}^1 C_n u^{n-1} v^1 + {}^2 C_n u^{n-2} v^2 + {}^3 C_n u^{n-3} v^3$$

$$y^{(n+2)} x^2 + n y^{(n+1)} \cdot 2x + \frac{n(n-1)}{2} y^{(n)} \cdot 2 + 0$$

$$x^2 y^{(n+2)} + 2x n y^{(n+1)} + \frac{n(n-1)}{2} y^{(n)}$$

$$x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^{(n)}$$

module 2

$$= x y'$$

$$u = y' \quad v = x$$

$$u' = y'' \quad v' = 1$$

$$u^n = y^{(n+1)}$$

$${}^0 C_n u^n v^0 + {}^1 C_n u^{n-1} v^1$$

$$y^{(n+1)} x + 0$$

$$x y^{(n+1)}$$

module 3

$$y = y^n$$

$$x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^{(n)} + x y^{(n+1)} + y^n$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + n(n-1) y^{(n)} + y^n$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 - n) y^{(n)} + y^n$$